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22nd Dec.. SSC CGL 2019 Pre. Reasoning Mega Quiz Begnner Level (Questions) 

 
Q1. In the following question, select the related word pair from the given alternatives. 

Grapes : Fruit : : ? : ? 

(a)Stem : Potato 

(b)Ginger : Branch 

(c)Tomato : Red 

(d)Ladyfinger : Vegetable 

 

Q2. In the following question, select the related number pair from the given alternatives. 

42 : 55 : : ? : ? 

(a) 35 : 48 

(b)64 : 80 

(c)52 : 69 

(d)36 : 54 

 

Q3. In the following question, select the related letter/letters from the given alternatives. 

NPQ : SUV : : JLM : ? 

(a) PQS 

(b) ORS 

(c) PQR 

(d) OQR 

 

Q4. In the following question, select the odd word pair from the given alternatives. 

(a) Cricket – Pitch 

(b) Rink – Skating 

(c) Hockey – Ground 

(d) Wrestling – Arena 

 

Q5. In the following question, four number pairs are given. The 

number on left side of (–) is related to the number on the right side 

of (–) with someLogic/Rule/Relation. Three are similar on basis of 

same Logic/Rule/Relation. Select the odd one out from the given 

alternatives. 

(a)13 – 15 

(b) 17 – 19 

(c) 11 – 13 

(d) 15 – 19 
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Q6. In the following question, select the related word pair from the given alternatives. 
Police : Criminals : : ? : ? 
(a) Sister : Female 
(b) Teacher : Teach 
(c) Doctor : Patient 
(d) Law : Lawyer 
 
Q7. In the following question, select the related number pair from the given alternatives. 
16 : 21 : : ? : ? 
(a) 14 : 19 
(b) 15 : 23 
(c) 18 : 22 
(d) 21 : 29 
 
Q8. In the following question, select the related letter/letters from the given alternatives. 
ROK : SNL : : PAT  :  ?     
(a) NYR 
(b) RCV 
(c) QZU 
(d) OZS 
 
Q9. In the following question, select the odd word pair from the given alternatives. 
(a) Cow – Animal 
(b) Peacock  –  Bird 
(c) Planet  – Venus 
(d) Chair  – Furniture 
 
Q10. In the following question, four number pairs are given. The number on left side of (–) is 
related to the number of the right side of (–) with some Logic/Rule/Relation. Three are similar on 
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives. 
(a) 11 – 100 
(b) 13 – 144 
(c) 19 – 324 
(d) 17 – 246 
 
Q11. Which of the following terms follows the trend of the given list? 
aAAAAAA, AaAAAAA, AAaAAAA, AAAaAAA, AAAAaAA, _______________. 
(a) AAAA AAa 
(b)aAAAAAA 
(c)AaAAAAA 
(d)AAAAAaA 

 
Q12. A helicopter flies 80 km North, then it turns West and flies 50 km, then it turns North and 
flies 120 km, then it turns to its right and flies 50 km. Where is itnow with reference to its starting 
position? 
(a)40 km North 
(b)200 km South 
(c) 40 km South 
(d) 200 km North 
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Q13. In the question two statements are given, followed by two conclusions, I and II. You have to 
consider the statements to be true even if it seems to be at variance from commonly known facts. 
You have to decide which of the given conclusions, if any, follows from the given statements. 
Statement I: Some genies are ogres 
Statement II: No magic are genies 
Conclusion I: Some ogres are magic 
Conclusion II: All magic are ogres 
(a) Only conclusion I follows 
(b) Only conclusion II follows 
(c) Both conclusion s I and II follow 
(d) Neither conclusion I nor conclusion II follows 
 
Q14. In the following figure, rectangle represents Web designers, circle represents Athletes, 
tringle represents Sculptors and square represents Asians. Which set of letters represents Asians 
who are not Athletes? 

 
(a) DEF 
(b) D 
(c) GF 
(d) DE 
 
Q15. A series is given with one term missing. Select the correct alternative from the given ones 
that will complete the series. 
RMT, PKR, NIP, ?, JEL 
(a) KNL 
(b) LGN 
(c) MHO 
(d) KFM 
 
Q16.In the following question, select the missing number from the given series. 
144, 139, 133, 128, ?, 117, 111 
(a) 124 
(b) 123 
(c) 122 
(d) 126 
 
Q17. In the following question, four groups of three numbers are 
given. In each group the second and third number are related to 
the first number by a Logic/Rule/Relation. Three are similar on 
basis of same Logic/Rule/Relation. Select the odd one out from the 
given alternatives. 
(a) (16, 48, 49) 
(b) (23, 69, 70) 
(c) (17, 51, 52) 
(d) (34, 112, 113) 
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Q18. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 
given figure? 

 
 
(a) 

 
(b) 

 
 (c) 

 
(d) 

 
 
 
Q19. Which of the following cube in the answer figure cannot be made based on the unfolded cube 
in the question figure?  

 
(a) 

 
(b) 
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(c) 

 
(d) 

 
 

 

Q20. A word is represented by only one set of number as in any one of the alternatives. The sets of 

numbers given in the alternatives are represented by two classes of alphabets as shown in the 

given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 

Matrix-II are numbered from 5 to 9. A letter from these matrices can be represented first by its 

row and next by its column, for example ‘B’ can be represented by 24, 31 etc and ‘V’ can be 

represented by 86, 89 etc. Similarly, you have to identify the set for the word ‘VAMP’. 

 
(a) 31,78, 23,59 

(b) 86,44,20,67 

(c) 13,87,10,67 

(d) 21,88,32,96 

 

Q21. In the following question, select the odd letter/letters from the given alternatives. 

(a) KQW 

(b) BGN 

(c) MSY 

(d) NTZ 

 

Q22. From the given alternatives, according to dictionary, which word will come at FIRST 

position? 

1. Glorious 

2. Glider 

3. Golden 

4. Glisten 

5. Grapes 

(a) Glider 

(b) Golden 

(c) Grapes 

(d) Glisten 
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Q23. In the following question, select the missing number from the given series. 
21, 11, 32, 43, 75, ? 
(a) 125 
(b) 153 
(c) 118 
(d)97 
 
Q24. A series is given with one term missing. Select the correct alternative from the given ones 
that will complete the series. 
GX, HW, IV, ?, KT 
(a) JU 
(b) KU 
(c) JV 
(d) JS 
 
Q25.Rajan walks 24 metres towards east. Then turns right and walk another 24 metres. Then turn 
right and walks for 31 metres to reach shop A. He againturns to his right and walks for 24 metres. 
What is the straight line distance (in metres) between the starting point and shop A? 
(a) 14√2 
(b) 15√2 
(c) 25 
(d) 26 
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